Lösung - Beispiel 4 - Donnerstag
Spaltenminimum – Methode
	
	1. Quartal
	2. Quartal
	3. Quartal
	4. Quartal
	Kapazität
	

	Lager-anfangs-bestand
	50
	
	
	
	
	

	R
	    700  | 25
	            | 27
	            | 29
	            | 31
	700
	

	1.Per      Ü
	    150  | 30
	            | 32
	            | 34
	            | 46
	150
	

	F
	    100  | 35
	            | 37
	            | 39
	            | 41
	150
	50

	R
	
	    700  | 25
	    100  | 27
	            | 29
	800
	100

	2. Per     Ü
	
	            | 30
	            | 32
	            | 34
	150
	

	F
	
	            | 35
	            | 37
	            | 39
	150
	

	R
	
	
	    600  | 25
	            | 27
	600
	

	3. Per     Ü
	
	
	    100  | 30
	     50   | 32
	150
	50

	F
	
	
	            | 35
	            | 37
	150
	

	R
	
	
	
	    800  | 25
	800
	

	4. Per     Ü
	
	
	
	    150  | 30
	150
	

	F
	
	
	
	            | 35
	150
	

	Lagerend-bestand
	
	
	
	100
	
	

	Nachfrage
	(1000–50)

950
	700
	800
	(900+100)

1000
	
	




     250


      200
        200


     100


      100
         50
Produktionsplan:

	
	1. Periode
	2. Periode
	3. Periode
	4. Periode

	Reguläre Arbeitszeit
	700
	800
	600
	800

	Überstunden
	150
	
	150
	150

	Fremdbezug
	100
	
	
	


Kosten = 700 * 25 + 700 * 25 + 600 * 25 + 800 * 25 + 100 * 27 + 150 * 30 + 100 * 30 + 150 * 30 + 50 * 32 + 100 * 35 = 89 800 €
